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https://dl.doubtnut.com/l/_PswWfrUsfqb7
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139.1og, v/z? = y T0Y) HradrHo

A a¥ = z*
B.y" =4
C.a¥ = 22
D.z¥ = qa?
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https://dl.doubtnut.com/l/_PswWfrUsfqb7
https://dl.doubtnut.com/l/_ns6vnuYgEtKZ

140. 6°°1 Bw3) Psreds DS 2:5¢) S0
€50Cs €903

A.6

B.4

C.9
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https://dl.doubtnut.com/l/_8U2MbEFP6biY
https://dl.doubtnut.com/l/_RV5gLD8xtTmC
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o Watch Video Solution

142. 800 3’ 9568305 Doy


https://dl.doubtnut.com/l/_RV5gLD8xtTmC
https://dl.doubtnut.com/l/_agQUdnis6X24

A2— /3

B.v/2+ /3

C.v/4 — /25

D./5 — /9
Answer:

° Watch Video Solution

143. /2 508050 /3 © S0¢gie 988305 Doy
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https://dl.doubtnut.com/l/_agQUdnis6X24
https://dl.doubtnut.com/l/_k5jPLYpnHUPu
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https://dl.doubtnut.com/l/_k5jPLYpnHUPu
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A 24


https://dl.doubtnut.com/l/_4gOqPC6drkFu
https://dl.doubtnut.com/l/_zXo7vrxxr9B0
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C.6

D.4

Answer:

o Watch Video Solution

146. X,y 0 DGPI03LV 900 z3y* HBosw =y’

© . °. &,

A1l


https://dl.doubtnut.com/l/_zXo7vrxxr9B0
https://dl.doubtnut.com/l/_Tv0mdBf3imxV

Answer:

o Watch Video Solution

147. 308 7S’ §5e3aD HoS

A(2+3) +(2—+/3)
B. (2++/3)(2—3)


https://dl.doubtnut.com/l/_Tv0mdBf3imxV
https://dl.doubtnut.com/l/_uEd1ZDhhBACq

C.v2+ /8
D.v/2-+/8

Answer:

° Watch Video Solution

148. $08 QS 5005 ) DTS SBTF0FO
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A 11

B.7


https://dl.doubtnut.com/l/_uEd1ZDhhBACq
https://dl.doubtnut.com/l/_KhRAxEhdqrm8

C.5

D.3
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149. 3825 GI3) PGP STEFOSO OO

A.3%2 %52 %17
B.3% x 5% % 13

C.3% %52 %17


https://dl.doubtnut.com/l/_KhRAxEhdqrm8
https://dl.doubtnut.com/l/_z5LEMpFJw6tM
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150. 8232 = 23 % 3 % 7 90003 k e

A1l

B.2
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D.4


https://dl.doubtnut.com/l/_z5LEMpFJw6tM
https://dl.doubtnut.com/l/_uH5ArYfSHRkG
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151.156 = 2° * 3 * K 900 k Qend
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B.7

C.12
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https://dl.doubtnut.com/l/_uH5ArYfSHRkG
https://dl.doubtnut.com/l/_FIMgPIwRZnj4

° Watch Video Solution
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https://dl.doubtnut.com/l/_QXKdMv8u2pSf
https://dl.doubtnut.com/l/_NTFgurTLTiHz
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https://dl.doubtnut.com/l/_NTFgurTLTiHz
https://dl.doubtnut.com/l/_NVRQVrHn1OuV
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B. 2

C.9

D. 29
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https://dl.doubtnut.com/l/_JQ5Lm6IdySDF
https://dl.doubtnut.com/l/_LdEiNzvgpLqW
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https://dl.doubtnut.com/l/_LdEiNzvgpLqW
https://dl.doubtnut.com/l/_V9ZlmUWe3dTK
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https://dl.doubtnut.com/l/_V9ZlmUWe3dTK
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https://dl.doubtnut.com/l/_Z4Gi0o9fsvEx
https://dl.doubtnut.com/l/_DLY2G5iS0vEY
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https://dl.doubtnut.com/l/_DLY2G5iS0vEY
https://dl.doubtnut.com/l/_qI8BegEoMrei
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https://dl.doubtnut.com/l/_qI8BegEoMrei
https://dl.doubtnut.com/l/_G03n9NMtXKG9
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https://dl.doubtnut.com/l/_G03n9NMtXKG9
https://dl.doubtnut.com/l/_2AZSrb61vxnx
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A 11
12


https://dl.doubtnut.com/l/_2AZSrb61vxnx
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164. a=bq+r (ab e B WFHOPED) O%°S G
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https://dl.doubtnut.com/l/_iCdS83WuQscr
https://dl.doubtnut.com/l/_29MVICW79Ctm
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https://dl.doubtnut.com/l/_29MVICW79Ctm
https://dl.doubtnut.com/l/_jxpFJwzmtBMN

C.048

D. 0.84
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A. 0115

B.0.023
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https://dl.doubtnut.com/l/_jxpFJwzmtBMN
https://dl.doubtnut.com/l/_1wqgFtQStA0e

D. 0.1015
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B.2

C.1


https://dl.doubtnut.com/l/_1wqgFtQStA0e
https://dl.doubtnut.com/l/_qy65nfW7fqGu

D.O
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https://dl.doubtnut.com/l/_qy65nfW7fqGu
https://dl.doubtnut.com/l/_YAimkwvd1aGg
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C. e9%%e30% D09
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https://dl.doubtnut.com/l/_YAimkwvd1aGg
https://dl.doubtnut.com/l/_wa7W7qs3hBjT
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https://dl.doubtnut.com/l/_wa7W7qs3hBjT
https://dl.doubtnut.com/l/_QznPWxquEeM6
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https://dl.doubtnut.com/l/_BvNlNqXhObZQ
https://dl.doubtnut.com/l/_p1SPKwnJT74t
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https://dl.doubtnut.com/l/_oawyVvTk87FB
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AA

eaoéaﬁaai)é ceodore Trosidfs q BBw3) G0N0
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B.3" + 5™
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https://dl.doubtnut.com/l/_VTMEcL144zvx
https://dl.doubtnut.com/l/_xj1xQVkpnGoa

175.1og, 1 =

A.O

B.1
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176.1og, x = b 90N


https://dl.doubtnut.com/l/_xj1xQVkpnGoa
https://dl.doubtnut.com/l/_5bTXNWlte03W

B.z% = b

C. :Ub =a

D. ab =
Answer:
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177.10og5 9 = = 90D X DLV
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https://dl.doubtnut.com/l/_5bTXNWlte03W
https://dl.doubtnut.com/l/_RPo1KXVyJngz

B.3

C.2

D. 1

Answer:

o Watch Video Solution

178.10g, \/c = 2 @900 Z DV


https://dl.doubtnut.com/l/_RPo1KXVyJngz
https://dl.doubtnut.com/l/_htlrZUg8eWTx

C.0
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° Watch Video Solution

179.2 log 3+log 5 =log N €900S N =

A. 45

B. 235

C.75


https://dl.doubtnut.com/l/_htlrZUg8eWTx
https://dl.doubtnut.com/l/_wFzDcle85zBY

D. 30
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o Watch Video Solution

180. log, 324 = 2 @0 a

A.16
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C.18
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https://dl.doubtnut.com/l/_wFzDcle85zBY
https://dl.doubtnut.com/l/_QBrExVsmIXpu
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181.1og, /T = k + 3 €900 k e
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https://dl.doubtnut.com/l/_QBrExVsmIXpu
https://dl.doubtnut.com/l/_T4u2gpgIoPbY
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A. ].0g8 64 = 2

B.log, 64 = 3

C.log, 64 =4

D.log, 64 = 6
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_8GkZ6jnQORgf
https://dl.doubtnut.com/l/_lMw27THPKjeM
https://dl.doubtnut.com/l/_88qYLkNTY61u
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https://dl.doubtnut.com/l/_88qYLkNTY61u
https://dl.doubtnut.com/l/_MzowU3jWWT1X

Answer:

° Watch Video Solution

186. log;, 25 + log;; 4 @900 x=
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https://dl.doubtnut.com/l/_MzowU3jWWT1X
https://dl.doubtnut.com/l/_i2RHT7muIIQo

B.2

C.3

D.4

Answer:

o Watch Video Solution

187.logx + logy = log(x+y) €900 x=



https://dl.doubtnut.com/l/_i2RHT7muIIQo
https://dl.doubtnut.com/l/_Pikeg2ixfkKA
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188. logs 27 + log, 16=
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B.43

C.7


https://dl.doubtnut.com/l/_Pikeg2ixfkKA
https://dl.doubtnut.com/l/_EhTN166d0Sid
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https://dl.doubtnut.com/l/_EhTN166d0Sid
https://dl.doubtnut.com/l/_bpjcYf7BHNuo
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https://dl.doubtnut.com/l/_bpjcYf7BHNuo
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191. log 30 D 308 & 87006 T°aHBSS0?

A.log 15 + log 2


https://dl.doubtnut.com/l/_Z7L6iPw0Zjac
https://dl.doubtnut.com/l/_xdWxWNbJEHvt

B.log 20 + log 10

C.log 60 - log 2

D.log 5 +log 4
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192.10g /5216 = z 0N x=
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B. 216


https://dl.doubtnut.com/l/_xdWxWNbJEHvt
https://dl.doubtnut.com/l/_tUZvWqtfakK6

C.3
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193. log; (:c2 +9) = 2900 x=
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https://dl.doubtnut.com/l/_tUZvWqtfakK6
https://dl.doubtnut.com/l/_xxT6zFAv1iNo
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https://dl.doubtnut.com/l/_zqWrmQoBnSJM
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https://dl.doubtnut.com/l/_L5zAIW04WXgf
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° Watch Video Solution



https://dl.doubtnut.com/l/_qLcQHCxg2RXy
https://dl.doubtnut.com/l/_OyfpezEfmR5R
https://dl.doubtnut.com/l/_PK4vcQEN55qZ

199. logg /216 DY), eV
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2
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200.10gg 2 = Y €900 Y DD


https://dl.doubtnut.com/l/_PK4vcQEN55qZ
https://dl.doubtnut.com/l/_SkdNDCLNsg90
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https://dl.doubtnut.com/l/_SkdNDCLNsg90
https://dl.doubtnut.com/l/_fri9vk8sxLWY
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D. 1
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202.log 10 +2 log 3 -log 2 =

A.log 90

B.log 45


https://dl.doubtnut.com/l/_fri9vk8sxLWY
https://dl.doubtnut.com/l/_TIz4f9E8Cbv7

C.log 180

D.log 120
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203.3 log 4 =

A. log 64

B. log 81

C.log 12


https://dl.doubtnut.com/l/_TIz4f9E8Cbv7
https://dl.doubtnut.com/l/_MZ5G7qnReCZr
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https://dl.doubtnut.com/l/_boeiHzkzJ56Z
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o Watch Video Solution

16
205. log(ﬁ) = p(log2 — log 3) €900 2p+3

IO
A. 4
B. 14
C. 11

D. 16
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https://dl.doubtnut.com/l/_nra5RnMV5BA2
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o Watch Video Solution

213. 4 508050 5 © SO 28 56305 H0S
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